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Falte das Blatt entlang der Linie und multipliziere aus.  

Beispiel: „Jeder mit jedem“ 

(5x+3)(-15x-3) = 5x·(-15x)+ 3·(-15x)+ 5x·(-3)+ 3·(-3) 

= -75x²-45x-15x-9 = -75x²-60x-9 

 

1. (-2x+19)(14x+2) = ______________________________ 

    __________________ = _________  -28x²+262x+38 

 

2. (7x+7)(-10x-18) =______________________________ 

    __________________ = _________  -70x²-196x-126 

 

3. (12x+15)(-7x+15) = ______________________________ 

    __________________ = _________  -84x²+75x+225 

 

4. (-17x-3)(4x-12) = ______________________________ 

    __________________ = _________  -68x²+192x+36 

 

5. (2x-11)(-1x-9) = ______________________________ 

    __________________ = _________  -2x²-7x+99 

 

6. (18x+14)(-7x-20) = ______________________________ 

    __________________ = _________  -126x²-458x-280 

 

7. (-3x+2)(3x+17) = ______________________________ 

    __________________ = _________  -9x²-45x+34 

Ergebnis: 


